R:\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-855 Masonite FG Opaque (LK,DB)\C - Drawings\TX-4633.36.dwg, TX-4636

'Endura

PERFORMANCE STANDARD

Opaque Fiberglass Door

"NON-IMPACT" .
INSWING / OUTSWING

EVALUATED FOR USE IN THE STATE OF TEXAS

The Fiberglass Door system described herein complies with the 2018 International
Residential Code (IRC), Sections R301 & R609 and the 2018 International Building
Code (IBC), Sections 1404.13, 1609, 1709.5, 2403 and 2404 subject to the
following conditions:

1. Anchors shall be as listed and spaced as shown in the details. Anchor
embedment to base material shall be beyond wall dressing or stucco.

2. When used in areas requiring wind-borne debris protection this product is
required fo be protected with an impact resistant covering that complies
with Section R301.2.1.2 of the IRC and Section 1609.2 of the IBC.

3. Allowable design pressure requirements must be equal fo or less than the
design pressure rating shown in the design pressure chart, sheet 1 of this
drawing.

4. Conditions not covered by this drawing are subject to further engineering
analysis.

TABLE OF CONTENTS

SHEET # | DESCRIPTION
1 Typical elevations, design pressures & general notes
Astragal details (Ultimate Multipoint)
Astragal details (Ultimate Humicane)
Door panel details
Horizontal & vertical cross sections
Vertical cross sections
Frame anchoring

N[o~c| | B |WIN

74" MAX. O.A. FRAME WIDTH

98" MAX. O.A. FRAME HEIGHT (INSWING)

97.125" MAX. O.A. FRAME HEIGHT (OUTSWING)

Wy,

N
T
_[: A4

AN
OF.d

7. 27 g

XX INSWING +45.0 +50.0 -50.0
PINE
XX OUTSWING +55.0 -55.0 +45.0 -45.0
XX INSWING +45.0 -45.0 +50.0 -50.0
"FusionFrame"
XX OUTSWING +50.0 -50.0 +45.0 -45.0

bl

LN

S

53 &

Eg e 4

- -

ANOL O M o

@ 2. 0F

w .

c ?_1‘552 .

5 o <

a Z99qs Z
<22 o

i FTWw =

2 45e ©
a>v @
Zon %

3 Qn ©

m °N6 o

o %521!—

® Zmg O

o a c

a 256 O

o 5Q99¢

- moo <

o o)
;S o

2

[=4

o e;

E g

=}

(%]

0

o

CERTIFICATE OF REGISTRATION # F—11852

(Op]
2= 4
Sle)
n3
g
&
3y
<<
@ . =i
D >_-,<>((.’>
S D Ly
i = 3
Ll Loy
) %]
U')_|LIJ
< <X
= | €3
[9p]
O ol
=5 %]
o e &
xx < a8
o o
(%] N>
L bm
L
(=)
o
O
=|O
S(E|2
=INE
Q_Om
o wn
N = z
“o|® )
SERZ
Elolx| |2
s|=I9] *
2} I}
S|=
<
0Q_<E
Q
85|z
< =)
o 0
= <l
NEE
SENE
NERE
NEEE

oaTE: 8/31/16

scAle:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—4636

SHEET 1 oF 7

© zo16 R.W. BUILDING CONSULTANTS INC. -



‘ONI SINVLINSNOD BNIGTUNG "M'H 91L0Z

SNOISIATY
L= UVAISIOZY 40 3UVOLILNIO . -
SU3aNIoNE gw_mmuuomm 40 Quvog SvXal Dz%ﬂﬁu&:ﬁ%ﬂwﬁﬁﬁa Ad 31v3 [ONJ | . «lol o 7_
6'689°C18 ©ON SUOYY S47 ONILSIL M3IN 804 3ivadn|eL/L0/014| | M/ e rl_r ML
G8EE 4 ooMBA OTZ xo8 O M, "KIGWISSY 80 18vd 3000 0¥i/281 810z OL 3ivadn o1 L Q|8
“ONI ‘SINVLINSNOD ONIGTING @u SN ® NOUJO .Swibijuoisnd, aav|6./6L/6| Z o el 2~
ala|g &
€Z1HOL# ‘3'd SYXAL VHNANS g m g1¥|3 m
“3'd .chnEum ‘d uopuky :Ag pedndeid sjuswinoog -10NQoYd ol |86 |a 4
(18]
N
R o
WOoLOg . &
in Lo
! <3
T g | K
& 2 « &
~ o—— Jil5 Q
~ S N =
8 I === v
Q o
: T 3
R 85 ¢
: Er
8 - <
- L3p i 7
& O =
Q < T
(=) z o
5 N &
5 N
S b >
O d
* 3 -
2 | 8L |
T - s
2 | 3
i o} 2 « s
~ = 5 S
[\e) <€ = N
& 9 2 » 3
9 Q & 2 =
= Q = 3 <
7 o, o
Q <
pés z
x &)
O
[+~4
X <
m x
< WS9C
]
- [ 7]
i o 2
o~ W "4
= Q o Q
%r W £ O A
~ ~N P2y L
5 igr - Q £
s T Qg 5
= o
- Q9 <
& 2 o F %
> 38 = 3
M Qo = o
T % O x %
doI 2 ¢ £
O - H* =2
2 E
S W
2 o g <
(i) —
s B 5 x
NS & by
=~a 9 #*
- % w S
> fuid [
o= r = -
SR 2 0
= z 5 O
{ o 0
5 0 <
< O £ f—
o™ W b+ £ v
&« 0} =
$ T oc £ <C
7 #® o £ £
7 ——— _ -z
N 3 o]
«M l\ &/ T m‘f T\ M m w P
\J \ / — @D —
£ A - o} 2 =
S c 2 o} oD
£ & k] I~
£ & g g =
E = 5 g & L
! 2 o 1) g o
o ; 2o = <C
) = QO £
o 5] <o = =
2 L= 57 5 H
Ie] P .m < —l
B 8 = < oD
3] o
Q =
a '

22 'Bmprageeot-X1\sBumesq - D\(ga ) enbedo 4 a3uosey §68-YA - [AL\SU 40 3dag sexal - G\LNINVNYId BInpug\sIuaidNy



Ri\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-855 Masonite FG Opaque (LK,DB\C - Drawings\TX-4633.36.dwg, 3.2

eq
£ 0
£2 2 bl
5 .8 z=
(2) #8 X 1-5/8" PFH Gy gn of
WOOD SCREWS UPPER BOLT SLEEVE u ! le’ w*
(REINF. POLYMER) gg g e 3
2P =223 &o
2 dpe bk
a>mo ‘”g
Zge 5o
5 8%, fg
v 052 u°
g § o g 0'-01-
m
: = g%
i
S E &K 8
E 3
ANCHOR SCREW LOCATIONS o
[-+]
e | . -) ] e » ] o | gg
(TRIM COVER REMOVED) L < E;gg
(2) #8 X 1-5/8" PFH 10.5" —= 35.5" « B
WOOD SCREWS z |3l 3u
HARDWARE LOCATIONS ol £
< =
.. <
IEE
I
o o,
11 I g g m
1.75 "
: S
3 ] %O
A 1.63" | 9.5" A, | © z|2lo
‘ ] P N
i alols
oMy JERE
= [ a— SR E
: 1 SR 2
3 l BOLT RETAINER SLIDE BOLT ROD SN
0.063" —={|=— (GF NYLON} (STEEL) 2= o
2|5 |w
e
Iy _ 3l5s
) #8X 3" PFHWS ————_|| =
== DEADBOLT STRIKE 2 Qu
BOLT RETAINERS PLATE 3
™ [}
LOWER BOLT SLEEVE #8X 2-1/2" PFH WS 2 > |19
/ (REINF. POLYMER) ASTRAGAL SECTION SLIDE BOLT ROD i NERE
/ LATCH STRIKE z
ALUMINUM Y PLATE onTe: 8/31/16
ASTRAGAL SCALE:  N.T.S.
LATCH & DEADBOLT DETAIL ows. B JK
ALUMINUM ASTRAGAL ASSEMBLY o o LFS
DRAWING NO.:
ULTIMATE HURRICANE ASTRAGAL e
SHEET _3 oF _7

© zao1s R.W. BUILDING CONSULTANTS INC.



,o,:\:h".&“ﬁ.‘\,il.l ul "
" STILE (LVL) S oW R
STILE (LVL) INTERIOR 209 Sorisidy, b, 5% o
S iy 9% EC 0 ww
\ Sals i oy £* 8 o
f [hedi S Ndu 68 @y
’ 5 : R e " o Zz ~ G
in {, 3’ o o (’.’.; & Q@
= o H ] 22 32
- TOP RAIL : 2 z22 8 5
L_ (WOOD) : 2 § 38 % g
B F h’n.x:-\\_‘\. 5 § ﬁ o 2o
L RI R IR " ——— L s L m n: & u
——1.6' — EXTERIOR LOCK BLOCK 1.6 s 952 .°
(WOOD: 21" LONG) § §° g go
®  Ros B
/"1 \ HORIZONTAL CROSS SECTION o = 33
\4/ § gg
E & E
O
; ‘ , ; . , 8
. FIBERGLASS :
PANEL WIDTH ' \ _.
X wn
' =
P =2
N | ¥%}
. < (S Ta)
= Il E lyoe
(1 N ER
L
— R
” ~ o) Qc
W INTERIOR EXTERIOR i < S«
3 (@]
8 £
o <C
o Q. Q.
o
O 21 12k
% | J ] 8 2]
[ve] L
2 FOAM CORE || S
é ~i JO
: B
2 g€l
= © 5/8|2
in oMy [
(o] e S = %
[}
< X E|ISIE| @
L.E_’ N = L|>_]
5I2|S| |
N
.| SEE HARDWARE 23 =
TABLE 35|
< ]
i o] o
:- = NN
BOTTOM RAIL ™ |[.:/1- 2 185
(WOOD COMP,) [ |} NEEE
2 NENE
\ 4/ -—1.75" —— oate: 8/31/16
SCALE: .
. DOOR PANEL e N.Tj(
Masonite - bR
Fiberglass /" 2"\ VERTICAL CROSS SECTION o LFS
cwikser | LATCH: KWIKSET SIGNATURE SERIES (991) 4/ T

CORE MATERIAL: POLYURETHANE FOAM (1.9 PCF MIN.) y .
SHEET 4 oF _7

Ri\Clients\Endura PERMANENT\B - Texas Dept of ins\TDI - DR-855 Masonite FG Opaque (LK,DB)\C - Drawings\TX-4633.36.dwg, 4.2

@ 2016 R.W. BUILDING DONSULTANTS INC.



Ri\Clients\Endura PERMANENT\B - Texas Dept of ins\TDI - DR-855 Masonite FG Opaque (LK,DB)\C - Drawings\TX-4633.36.dwg, 5.2

2 2X FRAMING 2X FRAMING d,
G>=0.42) (G >=0.42) -8
6 N6/ (\ - DRYWALL il - DRYWALL S
4 108y '\ Y114 \ oW O [ &7
| T [——I I— ——] EXT. SHEATHING  H{1/4 L EXT. SHEATHING W[4 vt =y 5:;
\ b(114 ) \; Y, " §S g g g gz
1y’ #1114 € St 20
1 o 1 e > dg© 0k
1o | #10X2-1/2" PFH 118 s B88° g3
} 1" WOOD SCREW all % . oxf ,F
1/4" MAX. f B o] oy g 3} o3
a.
SHE 174 MAX. — | WOOD SCREW : £
ST T T X SHIM SPACE : £ S% r
] =00p000) §
e | DOORPANEL f DOOR PANEL
@ X |® X - S HEAD: PINE ™~ HEAD: "FusionFrame" {1-PIECE) 2
O
_ ENDURA WEATHERSTRIP ENDURA WEATHERSTRIP EQ
QEBD/PE 650 QEBD/PE 650 usS
“ A\ (QEBD/PE 650) I\ ( ’ s |35
EXTERIOR INTERIOR EXTERIOR INTERIOR § = :(::
i 2 =0
/ 2\ VERTICAL CROSS SECTION (3 VERTICAL CROSS SECTION 7 58
W Outswing shown - inswing also approved W Outswing shown - inswing also approved = o E
| A S o| ¥
S i
I - e —_— a &
%3] Ny
/0 7 5] [£ls
VA&MAX. e CSINK 1/4' MAX.
Lt
COR(!\;?; ;’ADS 7/ \7 / SHIM SPACE (TYP.) SHIMSPACE  ExT, SHEATHING S
) EXT. SHEATHING JAMB: "FusionFrame” 3|©
(1 OR 2-PIECE] 21200
JAMB: PINE \ SINE
e e it S S .. e a9l i
075 —=—= 075 =}~ 075" / 1/2" PEH #10X 2-1/2" PFH § R S|@|d| |«
l,_____, hlap Pty iy WOOD SCREW olml | 15
/ ULTIMATE HL{JﬁIS&mE AgTRA(G;A!L. S
2 FRAMING ULTIMATE M T ASTRAGA Winle] RS
COMPOSIE SNAP-ON (G >=0.42) ENDURA WEATHERSTRIP 2X FRAMING s =9l [
\ - : (QEBD/PE 650) ENDURA WEATHERSTRIP (G >=0.42) 2l
. CAP -~ DOOR PANEL (QEBD/PE 650) 15|z
N\ 8Pk
= <C 2
l o
< NN
= S N 2 2 ol
B e / =
0 DRYWALL SeywaLL |2 8/31/16
#8 X 2-1/2" PFH #8X 1"PFHSMS  #8X 2-1/2' PFH LATCH #8 X 1" PFH SMS #8 X 2-1/2" PFH SAE. N.T.S.
T = R B 105 |ae WOOD SCREW S HNGE WOOD SCREW, o+ 1w ppyy STRIKE PLATE HNGE WOOD SCREW owe. B JK
HEAD JAMB / HEAD IAMB #8 X 3/4" PFH SMS WOOD SCREW #8 X 3/4" PFH SMS o B LFS
JAMB AD JA DRAWING NO.:
e s TulorPone’ (T omonu gross gcton hets3s
(1-PIECE) (2-PIECE) "

© 2016 R.W. BUILDING CONSLLTANTS INC.



R:\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-855 Masonite FG Opaque (LK,DB)\C - Drawings\TX-4633.36.dwg, 6.2

A\ W\
INTERIOR EXTERIOR INTERIOR /’( EXTERIOR ENDURA
DOOR PANEL Y7: DOOR PANEL
e DOOR PANEL WEATHERSTRIP 1ERIOR EXTERIOR
DOOR SWEEP Dggggm e WEATHERSTRIP INTERIOR |
DBK-R
/1? / (DBR (DBK-ZAC) ¥ 1112 13 (QEBD/PE 650)
/ %10000
(as) i "'-LI_ (; PANEL
Lr N \

#10 X 2.5" PFH WOOD SCREW OR
1/4" X 2-3/4" ELCO OR ITW CONCRETE SCREW

/"1 "\ VERTICAL CROSS SECTION
\U Inswing Adjustable Threshold

! 4.5¢" !

INSWING ADJUSTABLE THRESHOLD
1AIL4565

| — 456" ,[‘

INSWING ARTICULATING THRESHOLD

IACLA4565

MAX. DESIGN PRESSURE = 135 PSF
{ULTIMATE HURRICANE ASTRAGAL)

X

#10 X 2.5" PFH WOOD SCREW OR
1/4" X 2-3/4" ELCO OR [TW CONCRETE SC

/"2°\ VERTICAL CROSS SECTION

EXTERIOR

Lyndon F. Schmidt, P.E.

\2

REW

#10 X 2.5" PFH WOOD SCREW OR
1/4" X 2-3/4" ELCO OR ITW CONCRETE SCREW

/3" VERTICAL CROSS SECTION

#10 X 2.5" PFH WOOD SCREW OR
1/4" X 2-3/4" ELCO OR ITW CONCRETE SCREW

7”4\ VERTICAL CROSS SECTION

W Outswing Bump Threshold

! 4.56" !

5 INSWING ADJUSTABLE THRESHOLD
ZAI4565RDS

Inswing Articulating Threshold Outswing Bump Threshold
w w/ PingCapfure 9 \é/

A= | = !
g | \=J W > 3
, A I 1

| 456" | | 456" | 456 |

INSWING ADJUSTABLE THRESHOLD 3 INSWING ADJUSTABLE THRESHOLD 4 INSWING ADJUSTABLE THRESHOLD
2 ZAI4565FN ZAILAA4565 ZAIAA4565FN
MAX. DESIGN PRESSURE = 35 PSF MAX. DESIGN PRESSURE = +35 PSF
{ULTIMATE HURRICANE ASTRAGAL) {ULTIMATE HURRICANE ASTRAGAL)

—— 1.65"

|

—

| 456" |

4.56"

INSWING ARTICULATING THRESHOLD 8

INSWING ARTICULATING THRESHOLD

7 ZAC4565FN

ZACLAA4565

MAX. DESIGN PRESSURE = £30 PSF

MAX. DESIGN PRESSURE = +35 PSF
(ULTIMATE HURRICANE ASTRAGAL)

%

MAX. DESIGN PRESSURE = +40 PSF

Nl

AR
! , S 4.56"

|

9

456"

INSWING ARTICULATING THRESHOLD

TEXAS P.E. #104123

P.O. Box 230 Valrico FL. 33595
813.659.9197

BUILDING CONSULTANTS, INC.
Phone No.:

TEXAS BOARD OF PROFESSIONAL ENGINEERS
CERTIFICATE OF REGISTRATION # F—11852

R

Documents Prepared By:

ENDURA
PART OR_ASSEMBLY:
VERTICAL CROSS SECTIONS

PRODUCT:

LFS
FS
BY

UPDATE TO 2018 IBC/IRC CODE

ZIACAA4565FN

MAX. DESIGN PRESSURE = +30 PSF

10 INSWING ARTICULATING THRESHOLD
ZAC4565RDS

MAX. DESIGN PRESSURE = £35 PSF

+ = 4 = i =N
B D & D & D
= = ~
1] f f
1—-———-———— 4.56" | L—————' 4.56" ’ [ 4.56" —"! !
1 OUTSWING THRESHOLD 12 OUTSWING THRESHOLD 13 OUTSWING THRESHOLD
ZOBL4565 ZOB4565FN ZOB4565RDS

4.56"

14 OUTSWING THRESHOLD

FOB4566

9/19/19 |ADD "FusionFrame” OPTION &
10/01/18|UPDATE FOR NEW TESTING

2
1

NO| DATE

REVISIONS

oate: 8/31/16

scAte: N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX-4636

SHEET 6 oF 7

© zo16 R.W. BUILDING CONSULTANTS INC.



RA\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-855 Masonite FG Opaque {LK,DB)\C - Drawings\TX-4633.36.dwg, 7.2

HEAD ANCHORS:

- uj
Su -4 #10 X 2-1/2" WOOD SCREW (PINE JAMB) ©g
gOX 2X FRAMING #10 X 3" WOOD SCREW (1-PIECE JAMB) 88, Bu
373 ¥ z = Su B &<
RS (TYP) . (TYP.) e 200 8d
] . 38 Z3a 23
] |~ SEEHINGE I R I / 57 538 pe
v DETAIL 1 — —— J poo fg
Tm]. * 5 [c’oj <> ng &k
3 % & o8;: g
— 4
N SEE DETAIL 1 SN s 935% uF
& = ASTRAGAL STRIKE § 9.8 O
DETAIL1  PLATE @ HEAD JAMB £ Rif Ik
: i . DEIART © L s
% I [
3 %3 X JAMB ANCHORS: E R b
ad #10 X 2-1/2" WOOD SCREW (PINE/2-PIECE JAMB) g
] , #10 X 3" WOOD SCREW (1-PIECE JAMB) W\ , &
o - q—¢ #8 X 2-1/2" PFH WS
) T ,//
A SEE HINGE " 48X 1" PEH é”' e o
DETAIL 2 BXTPRHWS <=0 /1 o= #8X3/4'PFHWS &
N _ " 4"X 4" HINGE g L
I \ = EE
[ =
SEE DETAIL2 OR 3 o W
‘ ' . HINGE DETAIL 1 B 2
L, o™~ B <C &
E * S %
. S &
% #8 X 2-1/2" PFH WS
& SILL ANCHORS: P e 12k
41{1YP) #10 X 2-1/2" PFH WOOD SCREW s Al ® -
4'(Tvp) . 4(vp) O 1/4'X2-3/4'ELCO OR 48 X1 PEH Ws <te - FI| Sl . S
HINGE JAMB  FLOOR SUBSTRATE MATERIAL ¢ : ITW CONCRETE SCREW o Hled[—F= #8 X 3/4" PFH WS PRES
———————  CONCRETE {MIN. 3000 PSl} [— 4" X 4" HINGE z(Ql6
WOOD (G >=0.42) FRAME ANCHORING A SN Z
XX A 3|8 al o
JAMB NOTES: * NOTE: THESE ANCHORS REQUIRED HINGE DETAIL 2 olalS| 1B
THE PINE OR "FusionFrame" 1-PIECE JAMB MAY BE INSTALLED @ THE HEAD OR SIDE JAMB. : ESlE| o
THE FusionFrame" 2-PIECE JAMB MAY BE INSTALLED @ THE SIDE JAMBS ONLY. FOR D.P. > 40 PSF. gkl @
o
CONCRETE ANCHOR NOTES: SN
1. Concrete anchor locations at the comers may be adjusted to maintain the min. E,j T W
edge distance to mortar joints. : . 3/16" X 2-3/4" ITW CONCRETE SCREW - . o g g
2. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted to ai2ia
maintain the min. edge distance to mortar joints, additional concrete anchors OR ASTRAGAL PIN CAPTURE <} |2
may be required.to ensure the "MAX. ON CENTEII?" dimension are not exceeded. #8 X 3" PFH WOOD SCREW COMPONENT (UNDER CAP) 2 g
3. Concrete anchor table: ASTRAGAL STRIKE ) § 5 ‘,:’&J
o
T Y ~N - rd
mw PN _ [ & J @ feo o
TAPCON® | 3/16" 1-3/4" 3 /2 =+ = = owTE: 8/31/16
nmw o . " . SCALE:  N.T.S.
1apcon®| 14 1-3/4 1172 4 owe B UK
oo o e | v . « V/ZDIA-HOLE peran 2 DETAIL2. DETAIL3 e o LFS
WOOD SCREW INSTALLATION NOTES: Outswing Inswing Inswing Y4636

1. Maintain a minimum 5/8" edge distance, 1" end distance, & 1" o.c. spacing of
wood screws to prevent the splitting of wood.

SHEET 7 oF 7

© 2016 R.W. BUILDING CONSULTANTS INC. |



